P 3 = 0
T R AR S HLAT PR BT A

i % HLA% B | BE CxN
( BAF A KTAS0 & 1 770000
b AL KTASO 5 | 1 980000
Xh K b B B gl M, KTAS! & 1 900000
&ML HCM/ 34K & ) 800000
Sé‘uﬂm HCM7 34E & ! 390000
pa:l Ti@a—zml = 1 495000
A Al 0SK60-DM 4 | 1000000
%wpl | QSK60-DM & | 1 1000000 |
L KA QSK60-DM & 1 1000000 |
S EIE QSK60-DM 4 1 1000000
W b R QSK60-DM e 1 1000000
SEE QSK60-DM & 1 1000000
KR R A T KTAS0 & 1 300000
| gf’iﬁaﬂ HCM734E - 1 365000
04 B CTALS & | 2 | 690000
RN CCFI300] 4 | 310000
&1 18 12000000 i




